= £ ¥ H OET B 4 B\ X (tn2)

\
e \
N : L;:/f
[ S ‘//)'A
i . S
X / )
1:10,000
0 200 1000
L S ¢ ——

N B4
% R m #&
= H A B | 3.6ha

wEN#HRAEHLE | 43.5ha

Hh

5 W

K

(BEHMM 10.4ha

EEmTHIERE  70.7ha

B ¥ £ A E R
3512 £ B | B #  12m|,550m
F
it

S % 16 950

# 20.5 1,550

Lk Ll
B & #h 3 # =] O BEE (BAME| BPHAEREEF
s\ RESEEREERME [0 || 8 ™ 2010 610 | P 5 R
= 1 @ @& B o | | 52.2 2010 610 E O A B E B
£ 1 B E B M = e 11.8 (2010 610 2 EH &R U & #
EORBE W OE M ) 3 30710 8/10 | F %k i
I ¥ 5 A # 56 2010 610 | &8 X ® #&|
i oL

FRARFHRFHAMATINZALTH 2(0894)@—0592(LIRFIRIH

m}

=

S|

Pt



